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1. ¢ —tan‘l( A)

Yg =Y,
b = tan"( 244856.273 - 244751.257 )= tarrl(105.016) _ 56°04'18"
AB 2738614.746 - 2738544.103 70.643
¢ = ¢ -45°24'38"=10"39'40" ‘AP @ s
2. ¢ =180° + tan‘l(g) ___________________ o
| ¢ B| ¢ AP-;A.-'::
o ,, [244760.457 — 244856.273 L g
¢— =180~ +tan " ( D
BC |2738481.781— 2738614.746| ¢ s 7~
A A
~180° + tan‘l(u) 180° +-35046:37"=215°46'37"
-132.965]

P = P +88°15'35"=304°02'12"

3. IEZ A ETEAPEIBP C

AB AP BP

sin(ZAPB) _ sin(/PBA) _ sin(/PAB)

AB = /(X5 — X )2+ (Yg =V,)2
= /(244856.273 — 244751.257)? + (2738614.746 — 2738544.103)? -126. 565

ZPAB = ¢, — ¢, = 45°24'38"

ZPBA = ¢y — B = p — (95 +180°) =67°57'54"

ZAPB =180° — ZPAB — /PBA = 45°24'38" =180° — 67°57'54"—-45°24'38" = 66°37'28

126.565 = | AP - BP.
sin(66°37'28") ~ sin(67°57'54") ' sin(45°24'38")
-~ _i -sin(£PBA)=127. 811
sin(£APB)
___AB__ in(zPAB)-95.194
sin(£APB)
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Xp = X+ AX = X, + Dy -sin
Y, =Y, +AY,, =Y, + D, -cos g,

Xp =244751.257 +127.811-sin(10°39'40") = 244774.902
YP = 2738544.103 +127.811- cos(10°39'40") = 2738669.707
o Xp = Xg +AXgp = X + Dgp -sing
Yp =Yg +AYg =Y, + Dg - COSP

l\—

X, =244856.273 +98.194 - sin(304°02'12") = 244774.902
Y, = 2738614.746 + 98.194: ces(30470212") = 2738669.707



